1. barium nitrate with sulphuric acid

Molecular: Ba (NO5),(aq) + H,SO,(ag) =% BaSO,(s) + 2HNO;(aq)
Ionic: Ba’' (aq) + 2NO,' (aqg) + 2H'“"(ag) + SO, (ag) =» BaSO,(s) + 2H' (aqg) + 2NO;' (aq)
Net Ionic: Ba’*(aq) + SO, (ag) =» BaSO,(s)

therefore barium sulphate is the precipitate

2. barium chloride with sodium phosphate

Molecular: 3BaCl,(aq) + 2Na;PO,(ag) =» Ba;(P0O,),(s) + 6NaCl (aq)

Ionic: 3Ba®*(aqg) + 6Cl' (ag) + 6Na'*(ag) + 2P0, (ag) =» Ba,;(P0O,),(s) + 6Na''(aq) + 6Cl' (aq)
Net Ionic: 3Ba’*(aqg) + 2P0O,° (ag) =» Ba;(P0,),(s)

therefore barium phosphate is the precipitate



